0.2

0.15

0.1

"

|
o
s8]

iy
TTTT] T T

0.95

=
o
iN

1

10

10?

0.2

%1073

0.15

0.

[y

o
TIT T[T I T [ TI T[T [ TT T[T T T TrTI[TTT

0.05]

-0.05

-0.15

-0.2

ey
TTTT T T

0.95

=
o
N

—— DQM_TT_mKFI-DQM_
—— DQM_TT__mkFit-DQM_adjusted
—— DQM_TT__mkFit-DQM_adjustedi2

100

(@)
TIT T T[T [TI [ IP [T T[T [T [ TTr Tt

MY

[y
TTTT] T

[ay
o
I8

10

iy

UL B LR RN R RNl RRR R RRRRN RN AR AR RARRN LRRL
+

1

10

100

(@)
TIT T T T[T [TI [ PP T[T T[T [T T [ TTr Tt

iy
TTTT] T




	Contents
	Page 1


